


SUITABLE FOR
VALTRA APPLICATION

MULTI ;
E ACTION

ANTI FRICTION MOVEMENT a
ROUND THE GLOBE 2



Outer Total

Can Bearing No. 0.E.M Bore Dia(mm) BTl ]?earing Illustration
Height(mm)
11949/11910 895322 19.050 45.524 15.494
11BC 2710095 33.300 0.000 23.020
12649/12610 C1VV1215A 21.430 50.010 17.530
21075/21212 DONN7NO044A 19.050 53.975 22.230
212049/212010 80907600 120.000 170.000 27.000
218248/218210 oo 1524625 89.975 146.975 40.000
2789/2729 7AS5014 39.690 76.200 23.810
28580/28521 1KS5014 50.800 92.080 24.610
29685/29620 593200 73.300 112.712 25.400
30205 LA5007 25.000 52.000 16.250
30206 LA5009 30.000 62.000 17.250
30207 LA5011 35.000 72.000 18.250




30208

30209

30210

30211

30215

30312

31307

31308

31310

31312

32006

32008

32010

LA5013
LA5103

LA5014

80568600

LA5016

LA5022

LA5218

61223

LA5313

LA5315

LA5318

24903780

3001717

3009853

40.000

45.000

50.000

55.000

75.000

60.000

35.000

40.000

50.000

60.000

30.000

40.000

50.000

80.000

85.000

90.000

100.000

130.000

130.000

80.000

90.000

110.000

130.000

55.000

68.000

80.000

19.750

20.750

21.750

22.750

27.250

33.500

22.750

25.250

29.250

33.500

17.000

19.000

20.000




32011

32012

32016

32019

32205

32206

32207

32208

32210

32216

32308

32309

33007

34057600

LA5990

LA5950

LA5938

80173600

LA5109

LA5111

LA5113

LA5115

9832270

40927

55.000

60.000

80.000

95.000

25.000

30.000

35.000

40.000

50.000

80.000

40.000

45.000

35.000

90.000

95.000

125.000

145.000

52.000

62.000

72.000

80.000

90.000

140.000

90.000

100.000

62.000

23.000

23.000

29.000

32.000

19.250

21.250

24.250

24.750

24.750

35.250

35.250

38.250

18.000




33018

33205

33207

33209

37425/37626

3780/3720

3877/3820

395/394A

3984/3920

469/453

48548/48510

501349/501310

580/572

LA5955

40923

LA5951

3009851

1850909

882554

7AS5014A

1851392

1851533

655662

1851800

WAA4220A

CS5018

90.000

25.000

35.000

45.000

107.950

50.800

41.280

66.680

66.680

57.150

34.930

41.280

82.550

140.000

52.000

72.000

85.000

158.750

93.260

85.730

110.000

112.712

104.780

65.090

73.431

139.992

39.000

22.000

28.000

32.000

23.020

30.160

30.160

22.000

30.162

30.160

18.034

19.560

36.512




6009

6009NR

6010 Z

6011

6013-2RS

6015

6015 ZZ

6015-2RS

603049/603011

6203-2RS

6205-Z

6205-ZZ

6207-ZZ

LA1014

195498

195494

834218
LA1016

21010

LA1022

LA1022

47127081

3176192

488952

LA11071

LA11074

LA1111

45.000

45.000

50.000

55.000

65.000

75.000

75.000

75.000

45.242

17.000

25.000

25.000

35.000

75.000

75.000

80.000

90.000

100.000

115.000

115.000

115.000

77.790

40.000

52.000

52.000

72.000

16.000

16.000

16.000

18.000

18.000

20.000

20.000

20.000

19.842

12.000

15.000

15.000

17.000




6208-ZZ

6210

6212

6213

6215 NR/C3

6304

6304-Z7Z

6306

6307

6308

6309

6310-2RS

6312-2RS

LA1113

LA1115
LA1293

C5NN7127B

LA1120

21946

LA1205

LA1291

LA1209

LA1211

LA1213

LA1214

80450644

210051

40.000

50.000

60.000

65.000

75.000

20.000

20.000

30.000

35.000

40.000

45.000

50.000

60.000

80.000

90.000

110.000

120.000

130.000

52.000

52.000

72.000

80.000

90.000

100.000

110.000

130.000

18.000

20.000

22.000

23.000

25.000

15.000

15.000

19.000

21.000

23.000

25.000

27.000

31.000




67048/67010

801346/801310

803149/803110

805092C

819349/819310

84548/84510

88048/88010

88649/88610

903249/10

NJ305ST

NU211

NUP211

NUP308

893373

80900300

80638600

30030522

80173000

3176712

80322800

80638700

814730

23224

3003372

3003372

LA3955

31.750

38.100

44.450

78.000

95.000

25.400

33.340

34.930

44.450

25.000

55.000

55.000

40.000

59.131

82.550

88.900

130.000

135.000

57.150

68.262

72.230

95.250

62.000

100.000

100.000

90.000

15.875

29.370

30.162

90.000

20.000

19.430

22.230

25.400

30.960

17.000

21.000

21.000

23.000




T-126 TR

T-199 TR

195175

CONN3A299A

32.004

51.054

55.562

74.612

15.875

15.875



V. Kan. Export

AN 1SO/TS 16949:2009 CERTIFIED CO.

WORKS: PLOT NO.: 347, SECTOR-8, IMT-MANESAR, GURUGRAM-122050, HARYANA (INDIA)
TELEFAX: +91-124-406-7421, +91-9810049380, +91-9810099961
E.MAIL : canbearing@gmail.com , vaibhav.ahuja82@gmail.com

www.canbearings.com




